Dividing Money (J)

-

10.

Calculate each quotient.

19 ) €201.78 2. 92) €1341.36 3. 81) €1833.84
29 ) €1219.74 5. 44') €1162.48 6. 51) €2100.18
62 ) €3914.68 8. 91) €3747.38 0.  97) €1868.22

If 81 identical shirts cost €1940.76, how much did each shirt cost?
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Dividing Money (J) Answers

10.

€10.62

19 ) €201.78
—€190.00

€11.78
—€11.40

€0.38
—<€0.38

€0.00

€42.06

29 ) €1219.74

—€1160.00

€59.74
—€58.00

€1.74
—€1.74

€0.00

€63.14

62 ) €3914.68
—€3720.00

€194.68

—€186.00

€8.68
—€6.20

€2.48
—€2.48

€0.00

Calculate each quotient.

€14.58

92 ) €1341.36
—€920.00

€421.36
—€368.00

€53.36
—€46.00

€7.36
—€7.36

€0.00

€26.42

44) €1162.48
—€880.00

€282.48
—€264.00

€18.48
—€17.60

€0.88
—<€0.88

€0.00

€41.18

91 ) €3747.38
—€3640.00

€107.38
—€91.00

€16.38
—€9.10

€7.28
—€7.28

€0.00

€22.64

81 ) €1833.84
—€1620.00

€213.84
—€162.00

€51.84
—€48.60

€3.24
—€3.24

€0.00

€41.18

51) €2100.18
—€2040.00

€60.18
—€51.00

€9.18
—€5.10

€4.08
—€4.08

€0.00

€19.26

07 ) €1868.22
—€970.00

€898.22
—€873.00

€25.22
—€19.40

€5.82
—€5.82

€0.00

If 81 identical shirts cost €1940.76, how much did each shirt cost?

€23.96
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